RESPUESTAS DINAMICA DE LA PARTICULA

10.-

11.-

12.-

RESPUESTAS DINAMICA DE LA PARTICULA

N, = Zﬁmv2 ()

1

N1—4fmg('<) ;Nz=53ﬁmg(-))
a)N1=%m(9R—ﬁV2)('T‘)

o2 o |
BN: = 2 m(3gR =2 V') ()

2 2
N, = —-m(-/2gR + 4v 2
2 = oo M(V20R + ) (7))

V2 =3,gb

F =8m(g+8V)x

Vl'j“m'n > % A/ gR

. .
F - 2y F2bi-gazy®

1 14 /3 g
O = gL

donde 2 es la pieza

B [2x29H+ vzj
T = Zx/72gH P

a =--09)] Tae=12P

NBzmg+§(3+2n)m (™)

3
2

1

_ _ 2
fl_ﬁm(SgR J2vE) (€)

1 2
f,=-—"—"—-m 2gR + 4v N
2 = 7R (V2gR + ) ( )

Ng=—P () ; NA:EP((_)

143



13.-

14.-

15.-

16.-

17.-

18.-

19.-

20.-

21.-

22.-

23.-

24.-

25.-

26.-

27 .-

28.-

m C?
b3

donde C = r?6

F:

viLln2
29F,

(1+ ecosh)?

v :3«1+m¥)@
T

Hpin = 0,25

2
®
y=__-x

29

T=m(g-7nR)

v= 312 —p?)

L

144

RESPUESTAS DINAMICA DE LA PARTICULA



RESPUESTAS DINAMICA DE LA PARTICULA

29.-

30.-

31.-

32.-

33.-

34.-

35.-

36.-

37.-

38.-

39.-

40.-

41.-

42 .-

43.-

44 -

45.-

46.-

t=3(s)
4bw?
“:
g
ay =044g ; al =0
d =126 (m)
N, =m(Ro® + g) (M) N,
Ny=mg (M) i Np=oov
Nl:\/fmnR (R) : N,
: A hg
Ap =0125; bV} = [
VE =10 V/3gR
¢ =cos * L(vz+ZgR)
3gR
3
-2
P 2
h=2L
3
d:ﬁR
2
AN=8P (€) : bh=3R
ho3Y3 .
2
1
=cos | =
? (3)
Ve =/ gR
¢ = 6,12°

=2mRo’ (k)

(€)

:ng—ﬁR)(¢)

145



RESPUESTAS DINAMICA DE LA PARTICULA

47 .-

48.-

49.-

gL(2-Ln2)

4

:\/

gb(9-4Ln2)

6

146



